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and adhere to the word limit as practicable. Geg PR
All symbols are of usual significance.
1. Answer any five questions from the following: 2x5=10
i @-ciat o5 aeiw Tea we:
(a) What do you mean by product class?
@A @< 600 F QIR 2

(b) What is meant by ‘argument form’? Give one example.
I S Ie0e & @RIT ¢ 93 f Srizge wie

(c) Symbolize the following:
oIS FEN

(i) p, only ifg.
p, If q.

(ii) p is the sufficient condition of g.
p, g-a3 2Hig =S

(d) What is the negation of a contingent statement form? Give reason for your
answer.

GFTo SI5{fSF WAPIRR a1 A 2 (IR TR Ho{0H I e |

(e) Translate the following sentence into Boolean notation and then express it in
terms of Venn diagram:

All who are educated are not liberal

frsre 3o T Ffeite et Sea (onfboas T e el
) RS e Srimet T3

(f) Why is truth tree method called a decision procedure?
TP “miore @ e 1w fe o =7 9

(g) What is ‘Indirect Proof® (I.P.)?
AT &N A PIE I 9
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(h) If 4, B, C are false statements and X, Y, Z are true statements, then which of the

following are true?

% 4, B, C T2t 954 20 @k X, Y, Z o] 54 2, ©Ize fefeiReefer Yy @maf
1) 9

1) {[42(B2O)]o[(4-B)>Cl}o[(¥ 2B)>(C>2)]
(i) ~{~[(B-~C)v (Y-~ 2)}[(~Cv X)v(Bv~D)]}

(1) Do all categorical propositions have ‘existential import’?
R f=eors e & s e g

(j) What is propositional function? Give an example of it.
IHACTE FIF A 9 G GrIge Wi |

N
X
o
Il
—
()

2. Answer any two questions from the following:
frrferfe @-ie 76 e Tea e
(a) What are the differences between material equivalence and logical equivalence?

IEf el @ ([qifess Tiefora e ot af f o

(b) Determine whether the following statement forms arc tautologous, self- )
contradictory or contingent by means of truth table.

FOTARAR AR No4 Adera woswe), 7o fuey o1 wfes o faefy s
(1) [p>2(g2p)]=lgo9)o~(ror))
(1) [(p-@)>rl=[p>(g>r)]

(c) Supposing that 1 and O propositions have existential import, how much of the 5
traditional square of opposition will remain? Explain.

QYN [ GR O IAR2 TIGLETe ©leo Wiz FE T4 2Aore Ry sgraie

(v

tI}—

IORT SR AR 9 A1 I
(d) Use the method of Indirect Proof (I.P.) to verify that the following statement is a 5
tautology.

HTEArE 2N 2o TR @mle @ fFEfatie Il 7os 7wy |
[((A>B)-A]>B

Answer any two questions from the following 15%x2 =30
fefarfie @-ciet 7230 ernr Tea we
3. (a) Test the validity of the following arguments by Venn diagram indicating the 5+5

mood and figure of each of them:
T 6 g Trme 30 frrfafe Ifeelm el conboas wricm fom s

(i) Some children are not considerate, because all children are self-centered and
no self-centered person is considerate.
@ @ e s 71, TR 7ea el SY-fEs, 9F @W Syefys afe
fatass 731

(ii) Only teachers were present in the seminar. Some scholars were present in the
seminar. So, some scholars are teacher.
T IR G TAfEs et g eeee Gifamie Teifrs faeti o,
g o7 s |

[§e]

1074



CBCS/B.A./Hons./1st Sem./Philosophy/PHIACOR02T/2019 P T

~Fa N\

(b) Test the validity of the following argument by truth table method: " /”L\\ 5
ey £\
3 6‘3 a % 3 'Qli:QI ﬁ-ﬂ%ﬁ@ ﬂﬁ?mﬁhm ﬁmg m‘g kY P ;\F{‘\( ‘1' ,:: "j
Uos(VvIv) \,\B . '/
V-W)yo~U
o~U ' gt o
4. (a) Determine whether the following statement is tautologous by using truth-tree 3
method:

O ~AfSR AR Frae A1 Twssve; B 7t fefy zats
[4 > (B2>CO)]>[(4->B)—>(4—0)]
(b) Use truth tree method to test the validity of the following argument: 4+4
TP (S Aot 37 e Yfela et =Rt e

. Ao B
(1) ——
A->B

(it) We shall fish if it rains and swim if it does not. Therefore, we shall fish or
swim.

meaﬁqmﬂwwﬂwmﬂﬁmmwmzww@m
T3 eI FHEN

(c) Use truth tree method to determine whether the following propositions are 4
consistent:

TP *Fafoa AR AT Ioaefer skaifosyf Rt Rom s
A->C,B—>C, -4, -A—>-C

5. Construct formal proof of validity of any three from the following arguments 5x3 =15
(Do not use C.P. or I.P.):

frferRe -t foafs 3o wermers taget emia 31 (C.P. 31 LP. 9219 391 A
N

(i) Jv(~J-K)
JoL
S(L-J)=J

(i) (RvS)>(T-U)
~Ro(V>~V)
~T
o~V

() G/..Hv~H

(iv) If either Socrates was happily married or else he wasn’t, then Socrates was a
great philosopher. Therefore, Socrates was a great philosopher.

I @ W @, 2 TEHHeR [aie Giw ed G feet wiedl e 7, o Sl
e el 7 fare™ | Srewr Tt waree Wi vl e
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6. (a) Use the method of conditional proof to verify that the following is tautology.
AT e afSg MR @wAe @ ek Awh T
(ADB)D[A4>(A4-B)]
(b) Use the method of Conditional Proof to prove the validity of the following:
AR AN SfafSq e fmfEie Ifeba tags! e S
JDO(K>~N)
(M-N)DN
O>(M-N)/..J>(K>~0)
(c) Use the method of Indirect Proof to prove the validity of the following argument:
ST e oS AR fRafeiie Ifea taere! emid e
AD(B-C)
(BVD)DE
DvAl:E
(d) Prove the invalidity of any onme of the following arguments by the method of

assigning truth values.
R WA 2 fod AR =S @i @6 3 Staget & I
(1) Mo>(NvO)

N>(PvQ)

ODR

~(RvP)/:. ~M

(ii) If John is intelligent and studies hard, then he will get good grade and will
pass the examination. If John studies hard but is not intelligent, then his effort
will be appreciated; and if his effort is appreciated then he will pass the
examination. If John is intelligent he will study hard. So, John will pass the

examination.

o it I 2GR SR TR ST, ORI (3 SN Gk ST wAp
T 2 T AT <o +1e o e A 2, O O BRI <zl fire T i
3t O (BBI 123 AT ©TI G ~HRFP <1 ¥ 1 A Tt I 2 ST 7 st
ICIR 2T FACI | JOAR, & ANHIY o 04
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